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1.) Ifyou sBIe/e a system of equations, and your answer is “The identity — there are infinite solutions,” what will the

graphs of these equations look like?

They would e He. Same. line

2.) If you solve a system of equations, and your answer is “The null set — there are no solutions,” what will the

graphs of these equations look like?

Trey would e o parallel lines

3.) If you solve a system of equations, and your answer is “There is one unique solution,” what will the graphs of

these equations look like?

TW@ wowld 2 10 inter Sectirg ines.

For each question, solve each system using the method indicated.

4.) Graphing y
2x +3y =18 I 7

y3+x N

AX+3Y=1%

AY=18- Q\X (3/ > 19T :
U=06- : - x
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5.) Elimination

‘3(5X+V=f> - -bx-%;-;w

x+3y=10 5 X + __lo

-yl
X=|

Dx+Y= 8
Olry=¢€
S+y=& |
Y=z (3

7.)  Substitution
a+2b-1— (.= |~ 2
2a+b=8

K-29+b=3
2-4o+b=3
2-3o=%F

vvvvvvvvvv

9.) Any method you'd like

A=) — (o) -Hy= -l

0=0

OO Dlutions

8.) Any " od yu’d like

6.) Substitution

2x +11y =15
x-y=1

X-Y=
X=1+Y

AX+lly=15

&(l’r%l\g: |5 X=1=

205 \UW=15 K=
:\gﬁ

At
| = ;I

X=4y-1
2x -6y =-1

10.) Any method you'd like

3(5-9 x+3y=24
..)(x+3y=1(5 __X_58 =-30D

0
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11.) Check any question you want from 4 — 10. Question #:

12.) A bus company requires 4 buses and 8 vans to take 240 school children to the library. It requires 2 buses and 9

vans to take 170 children to the museum. Calculate the number of children a bus can carry and the number of
children a van can carry.

| ok = of studentsan bus=b
Lek 4 of Students onvan=V 0326
A +V = Q40— Hb+Fv=240 Y0+80=040

- (Qo+av = 170)— -4 - I2\/-—3L}o b= 160
- OV = =40

(AV]
13.) At a carnival, 600 tickets were sold for a total amount of $2, 500 An adult ticket cost $8 and a children’s ticket
cost $3. Find the number of adult tickets and the number of children’s tickets sold.

ek = of adultHix=0- Ot C= (00 —0=600-c
| ek 2 o child 4ix= ¢ B +3¢ = 500 5= 220

%(600-()+3c:;2500 C= 4
ARO - B +3C =0 A +440= 0] HD dnld

- = 4 OU'\O‘
14.) Is the ordered pair (2,3) a solution of the foIIowirit%@am?SCﬁppcﬁ r%Ouroanswer with work. a I 40 |L{0 MUH‘
3x+2y =12 -2 _ - JiX
-2X+2y =5 \53({’8 0’2 X1~;)
ﬁ;b+ N3)=1A _;2[9>+9L3 -
O+ b= 4 +0=5
2=V =5

e
For 15 — 16, isolate y.
15.)%<2x+§=> 16.) éx___>




17.) 432 tickets were sold for The Lion King. Balcony tickets cost $40 each and tickets for the main floor cost $120.
The total amount of sales for each type of ticket was $30,560. How many tickets were sold for the balcony?

Lot % of Loncony 4x=b (Dt F=42)  — -7
et 4 of Floor x=F 4o+ F=2050 Aotk

Ud@ WC(OO( X (md D+5 =452
Qolo o\ fiX b+ g 452

18.) A test has twenty questions worth 100 points. The test consists of True/False questions worth 3 points each

and multiple-choice questions worth 11 points each. How many multiple choice questions are on the test?

L et 2% of T/F 7s= x
) ok 4 of MC 7s=Y
% =20 —> -3x- 3y =0 x;_@\%geo

= (00 3><-H|U\“IOO m

19.) Your teacher is giving a test worth 100 points, cons@tmé of four-point questions and six-point questions. There

are a total of 21 questions. How many of each type of question is on the test?

Let #oF 4-pt 7's=x

L@#o@ b-pt 73=Y X+3 =2
40y 9) -4 x~4g:-8“r X=13

4>(+ Ax+oy = 3 4- m@
% M](oﬁ SR 6&%@0

20.) Trevor is renting a limo out to a couple thatLIb5 planning thelr wedding. He told them that it will cost $70 an
hour, plus there is an initial rental fee. He calculated that after 7 hours, the couple will pay $515 to rent the

limo.
a.) Write an equation to relate the cost, y, to the number of hours, x.

="T0lhe b 4 Tocse
Now §ied b 515 =707)+b
219 =490+b
ad=b

b.) What is the initial rental fee?

$25



21.) Grace and Caleb decide to join a gym. At this gym, there is a membership fee, plus a monthly fee. Grace pays
$250 after 6 months and Caleb pays $350 after 10 months.

a.) Write an equation to relate the cost, C, to the number of months, m.

(6:2%0) = 360-290 lOO 5
(10,5%) T R
U= 96><+lo

m@ S | GO

b.)  What is the monthly fee? jﬁﬁlmg |d)_ %)
c.) What is the initial fee? E|Q )
d.) Find the amount they would have to pay after 12 months. |

C =250)+100

C= 244100

Answers:

4.) (3,4 5. (1,3)
6.) (2,1) 7.) (5,-2)
8.) (1,0.5) 9.) infinite solutions
10.) no solution 12.) 40 on bus, 10 on the van
13.) 140 adult tickets, 460 children tickets 14.) No
15.) y=-4x+28 16.) y=15x-3
17.) 166 main floor tickets, 266 balcony tickets 18.) 5 Multiple choice questions

19.) 13 four-point questions, 8 six-point questions
20.) a.) y=70x + 25 b.) $25
21.) a.) C=25m+ 100 b.) $25/mo c.) $100 d.) $400



